
Example: 2009 Burlington,  VT 
Mayoral Election

• 3 year position, no term limits

• One of the few US municipalities to use 
instant-runoff system. (Extra data!)

Bob Kiss
(Progressive)
[incumbent]

Andy Montroll
(Democrat)

Kurt Wright
(Republican)



Ballot count
Kiss, Montroll, Wright

Kiss, Wright, Montroll

Kiss

Montroll, Kiss, Wright

Montroll, Wright, Kiss

Montroll

Wright, Montroll, Kiss

Wright, Kiss, Montroll

Wright
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Who should win?



Simplified example

• Montroll, Kiss, Wright:  
1332

• Kiss, Wright, Montroll:  
371

• Wright, Montroll, Kiss:  
1513
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